H & 0l & AHS B Ml A

20243 =0llah LB Alel S Xt

2A: A=EX
Mz XHAISIEX D8 &4

[=

el XHAEIS XS EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
A2 =Xt 83,462,295 70,665,685 12,796,610
= 60,520,883
= 2,054,307
& 8,587,637
Al 12,299,468
NSASI=X D18 &4 9,263,549 8,892,060 371,489
= 187,597
= 1,935,632
& 1,014,877
Al 6,125,443
NS AEI =X S 6,030,298 5,569,227 461,071
= 150,000
ax 1,935,632
& 500,257
Al 3,444,409
ABI=X2 2] 2,278,643 1,804,183 474,460
& 15,012
Al 2,263,631
202 O4H| 600 900 A300
01 =2LHOd ] 600 900 A300
OAIg|EX2 & HRFA 2204]
200, 0003 x2H *33| *50% 600
301 LPENSZ 13,890 29,250 A 15,360
10 MBI =RREABAS 13,890 29,250 15,360
OAZEX2Z A ER23 Al
8,000 x7H+20U x 122 13,440
OAM3I=XZ Atsl RE LBz
30,0002 +1524 450
307 2I2+01A 1,824,153 1,774,033 50,120
= 15,012
Al 1,809, 141
10 AISIS XA EEHER2IHIE X 1,824,153 1,774,033 50,120
O=ZASEAEI =X 2 23|
910,157,000 & * 14! 910,157
OasESEARI=X2 23|
461,560,000 *14] 461,560
OsfelAtel=EX2 22|
401,436,000 * 14 401,436
OAtgl=X12 SAHRH D125 BX
960,000& * 14! 960
OAt2l=X2 SAH S8+
50,040,000 * 14! 50,040
T 15,012
Al 35,028
401 A& BIZ20HbI 440,000 0 440,000




2A:

Ar2l = X 2t

3 NG A=K JgE ¢
el NSARISXSE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 439,118 0 439,118
OSZANSEAZZEXZ /¥ § B+3AH0
A ERCEES Iy
300,000,000 * 14 300,000
OSHOHIHE JIsE2LSAH It &5 &
%) 39, 118,0002+14) 30,118
03 Al& 2 CHH| 88 0 8ep
OSOMIE JISBABTAMRC B35 &
xl) 882,000 *14] 882
AMEIZXAE X~ 134,050 105,850 28,200
= 26,721
Al 107,329
201 er2 3| 11,030 11,330 2300
= 5,365
Al 5,665
01 AtR2t2|HI 300 600 A300
OSEXGASXAEE 2tde =257
2 300, 0002 x22| *x50f% 300
2 35244l 10,730 10,730 0
OAL2ISTIAIE SAHAL doi2ds X3
10,0002 %1,073¥ 10,730
= 5,365
Al 5,365
301 EtE N = 94,520 94,520 0
=S 13,35
Al 81,164
02 ANRI2HHSFS(HAAS, NLHE) 50,000 0 50,000
OAMRIZSXAIE B AL EXI=E X
50,0002 *1,000& 50,000
14 IIEt2 8= 44,520 44,520 0
OAMSISXIAL HEAR E+usHl AR
56,0003 *795% 44,520
= 13,3%
Al 31,164
307 @120l & 28,500 0 28,500
== 8,000
Al 20,500
04 QIZIHAIAIH E X 20,500 0 20,500
OAIISXIAIE SAERL M=zl X
13,000,000 *13] 13,000
OARISXIAIEE 2l SAHAF 22 HEtgl X
el 2,500,000& %12 2,500
OAIEISRIAMSIE JI1EA S
5,000,000& *12] 5,000
10 Al2ISTIAIEEE 22X 8,000 0 8,000




FA SIS
3 NG A=K JgE ¢
el XFAE =X ST (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=ZAIMNSXE 2 23|
8,000,000& *14] 8,000
= 8,000
NSAtl2 82N 22 56,897 51,897 5,000
= 6,969
Al 49,928
201 Ler2&| 10,400 10,100 300
01 At2teltl 5,400 10,100 A4,700
2et-Zt| 1,550
“NHA S ZAH & AXE R &2t
10,0002 * 1002 %50f% 500
-NSAt2 =N Ed 35 el2tel 2
70,0002 15 1,050
OXNSARI2ZEAM 24 32+ 3,850
~HEEOIN B0l
70,0002 152 251 450% 1,050
~ASEOIN B0
70,0002 20 x22| x5(f% 1,400
A2 SNBSS 42
70,0003 «20H 22| *50f% 1,400
03 A= SHI 5,000 0 5,000
OSZEAl ASARI 2SN SgZet WS
5,000,000 *14 5,000
202 04| 600 900 A300
01 =LHO LI 600 900 A300
OXGARI2EH & =& 22| 0d]
200,000 x2EH 32| *50% 600
307 elzto| & 45,897 40,897 5,000
= 6,969
Al 38,928
10 Al SXAIEEHE 22X 40,897 40,897 0
OXSAt 2 ZE M 2|
40,897,000 *14] 40,897
== 6,969
Al 33,928
11 AMEISXAEEES 5,000 0 5,000
OR= 8 NIAALEFE2AM SatAH
1,000,000 +50H= 5,000
SE=AME 29 208,800 188,800 20,000
201 fer23y| 4,800 4,800 0
01 AtR2t2|HI 4,800 4,800 0
OSESAMNE AIRY Stz
400,000 128 4,800
306 EH= 167,000 157,000 10,000
01 &= 167,000 157,000 10,000




2A:

Ar2l = X 2t

3 NG A=K JgE ¢
el XFAE =X ST (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSE=INE 24|
167,000,000 *14] 167,000
307 gl2to| & 37,000 27,000 10,000
1 AMISXAIEEXS 37,000 27,000 10,000
O £2 A Xt 218 23H(SE=
KITHE) 27,000,000 * 14! 27,000
OArel &t 2| 10,000,000 * 14! 10,000
SIY=RXSE 29 70,276 74,536 A4,260
201 er23 | 4,276 8,036 A3,760
01 At2teltl 4,060 7,820 A3,760
Odgt+==H| 2,080
S2=A AES AEAH MFH
6002 4, 20004 *50% 1,260
S0IRET| L AHISE DIzel HE
50,0002 482 400
S NAABISZEOAN S ASH WX
4,000 *2000H*50% 400
O=Rclsdl SAblA 28 2,000
A2E 79 U B22 M
200,000 x202] *50f% 2,000
02 S5=24g4l 216 216 0
OslY=T 120BUE Haa3
9,000 <20~ 122 216
202 04t 1,000 1,500 A500
01 201l 1,000 1,500 2500
OSSR YLEF(DS U AA3H)
200,000 * 102 *50f% 1,000
301 22N = 65,000 65,000 0
02 AR 2E A S(FIANS, XLETHE) 65,000 0 65,000
OYE HASSE 9
20,0003 %1,625 & *22] 65,000
AZ7 SEAtdl2tel X3 15,000 15,000 0
2 7,500
< 2,250
Al 5,250
201 el 5,930 5,930 0
s 2,965
== 890
Al 2,075
01 At22t2l] 2,550 2,550 0
o288+ 1,050
-AHAIBI (AR A 20N 3lo¢
70,0002 x3E*53] 1,050
= 525
& 158




2A:
PSER
o e

el

Ar2l = X 2t
KSAAMIER I8 =4
NGA2 =X SE

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

-SeAtd2el 82 % 392

02

24|
1,500,000& 14

03 A2 I

O
o
02
Jo
-
11
10
b
Pl
y
oo
ton
o
oit
on
J
e

Mo

=

SRR

=

367
1,500

1,500
750
225
525

3,380

3,380
1,690

507
1,183

3,380

202 04|

SRR

=

1,500
750
225
525

1,500

01 S|

OSEAtdZelAl BE 0]
150,000& * 10

Mo

=

1,500

1,500
750
225
525

1,500

Mo

=

7,570
3,785
1,135
2,650

7,570

01 Al2I 2 & & ==l

7,570,000 * 14!

SARNEY

=

7,570

7,570
3,785
1,135
2,650

7,570

SHs A5 SEAMHIA X

SARNEY

=

226,902
158,832
6,806
61,264

226,918

AN 16

SRR

66,700
46,690

2,001
18,009

66,700

OS8Ys Atdl2tel 234l A&
66,700,000 * 14!

66,700

66,700

66,700




SA: AR =X

2 NS M=K JgE &4

el XFAE =X ST (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 46,690
=S 2,001
Al 18,009
301 22N = 160,202 160,218 A16
= 12,142
= 4,805
Al 43,255
01 Al 2E A S (FREXMA) 160,202 160,218 A16
OSYs Atdl2tel Al X3
160,202,000 * 14! 160,202
= 12,142
= 4,805
Al 43,255
SEAtHI 22| AL 21HH] XI# 211,539 180,918 30,621
[ 86,820
= 8,682
Al 116,037
101 212A4H| 211,539 180,918 30,621
[ 86,820
= 8,682
Al 116,037
03 SRH(RINHA) 222+ 211,539 180,918 30,621
OSgAtdlZelA 22X 2+ 211,539
e rals] 2,894,000 x5« 122 173,640
[ 86,820
= 8,682
Al 78,138
-GS0l 1,699,800 x6H 8,499
= 100,000 x5 * 122 6,000
-wWSEXH| 50,000 x5& * 122 3,000
-YHSAH| 80,0002 x5~ 12 4,800
22233 WSEXH A5
50,0002 x5 242 6,000
-22-238 HAGAH|l 452
80,0003 x5& 242 9,600
elsdl SXDISH 2 (SIS AY) 140,000 77,000 63,000
= 140,000
301 EtE NS 140,000 77,000 63,000
= 140,000
01 Al EE A S (2 DEXR) 140,000 77,000 63,000
Oo=RelsUl SXVIsSH 2S(S2INISAY)
140,000,000 * 14 140,000
= 140,000
felsul SADIsH 2¢ 260,850 387,000 N126,150




FA SIS
B X|AASI=R Ol X4
el XFAE =X ST (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 211,500
Al 49,350
301 EtE NS 260,850 387,000 A126,150
= 211,500
Al 49,350
02 ARSI X LGS (FHAAHS, NSWE) 260,850 0 260,850
OSeSH =XIISH 29
260,850,000 * 14 260,850
=S 211,500
Al 49,350
ASAE O & 22 HA 25 20,000 0 20,000
= 10,000
= 6,000
Al 4,000
201 fer= 3| 20,000 0 20,000
= 10,000
= 6,000
Al 4,000
01 AtR2t2|HI 20,000 0 20,000
OLU=AN Oy & 22l A 29 20,000
-S| XIZ0 &8 2Y
5,000,000 * 14 5,000
= 2,500
= 1,500
Al 1,000
t3eE =25 { 8288 S 7Y
15,000,000 * 14! 15,000
= 7,500
=S 4,500
Al 3,000
KANSTHEE MalMEIA EXAIS 2,404,141 2,378,585 25,556
= 1,682,480
S 216,317
Al 505,344
201 fer= 3| 3,000 3,000 0
[ 2,100
= 270
Al 630
01 AtR2t2lHI 3,000 3,000 0
OXIS At MHIAETHALY 2SI
3,000,000 *14] 3,000
[ 2,100
= 270
Al 630




2A:

X XH -
o=

Ar2l = X 2t
KSAAMIER I8 =4

o2 XGARI=SXESE EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
202 0idl 600 900 A300
01 =WHO4bI 600 900 A300
OXIAMEIAEIAETIAY A& 2201t
200, 0002 x2H x33| *50% 600
301 LPENF 362,856 328,571 34,285
= 254,000
& 32,656
Al 76,200
01 AISIBE XS (2 RETME) 362,856 328,571 34,285
OIARIE L 2 X &AL
362,856,000& * 14! 362,856
= 254,000
& 32,656
Al 76,200
307 212+01™ 2,037,685 2,046,114 A\8,429
= 1,426,380
& 183,391
Al 427,914
11 SIS XA 2 X 2,037,685 2,046,114 18,429
OXISALS| HHI A S RIARY
1,880,000,000 & 14! 1,880,000
s 1,316,000
T 169,200
Al 394,800
OFENSAHZXEAY
49,114,000 *14] 49,114
= 34,380
[ 4,420
Al 10,314
OYasEs AHIA 108,571,000 14| 108,571
= 76,000
& 9,771
Al 22,800
AKX HEHH XA 3,200 5,000 A1,800
301 LPENF 3,200 5,000 A1,800
02 NBIEZESGS(HAAS, XLTHA) 3,200 0 3,200
OdAR HENHH XIS 40,0003 80 3,200
SSHAAIY =& 3,055,867 3,137,765 A81,898
= 505,890
Al 2,549,977
2DVIESHAR K& 2,758,540 2,839,800 A81,260
= 495,990
Al 2,262,550
201 L2 AH| 6,600 0 6,600




SA: ABIZXID
3 NG A=K JgE ¢
ol E2deAy =8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 1,600 0 1,600
Odit==H| 1,120
-=Ot2SUEA 22 M
70,0002+ 162 1,120
o3| 480
-9i9 =7 S20AH
8,0002x30H x2 480
03 A=Y 5,000 0 5,000
Osisd =84 10,000, 0002 * 12| *50f% 5,000
301 EetE2 N = 2,737,440 2,824,800 87,360
=S 491,640
Al 2,245,800
02 ARSI S2E AT S(FIANS, XLETHE) 2,737,040 0 2,737,040
(OF=gSEe:- 10 RSy 100,000 880 * 12 1,086,000
OEzg=& 80,0002 #1,0008 « 122 960,000
OArERIZ=3 300, 0002 «60H 12 18,000
Odetgd &g+
30,0002 x045H 123 340,200
s 340,200
OFPldE 2EAN+Y(HE, 2X2Y 2
=) 0,000,000 %14 60,000
=S 60,000
Odetdr 22302 (SER3A
6,840,000 *14] 6,840
= 6,840
O=It28U oA B2 fIZ=
50,0002 *1,880H <22 188,000
O=ER3X /= A2=33.18, 2=72)
200,000 x25&H »23] 10,000
O4. 19231t ?I2= 200,000 x2H *13] 400
OZ=E82 2 Mas 22U /AES
100,000 *130E 12 13,000
O5. 18217t I8+
60,0002 x75 122 54,000
s 54,000
Ob.18U=7EAt HEAE=
70,0002 «20H 122 24,360
=S 24,360
Ou=xatzs 2d it dAKX Y]
130,0002 ~4&« 122 6,240
= 6,240
11 dAMEEIXIE S 400 0 400
Ossg A &Hl X
20,0002 *402 +50f% 400
307 @120l & 14,500 15,000 A500
s 4,350




SA ARSI
33 NGMeI=A Jlgt =4
ol E2deAy =8 (SH9 H2)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
Al 10,150
012z & a=Hl 14,500 15,000 A500
OS8R =5 224 N&
500,000 29 14,500
== 4,350
Al 10,150
2edHd 24X 279,447 216,725 62,722
= 9,900
Al 269,547
201 Ler23| 31,050 24,000 7,050
01 At2teltl 13,050 12,000 1,050
OF=3& =gl 12,000,000 * 14 12,000
05. 18IS A RIS BHA4Y
70,0002 * 15 22| x50f% 1,050
2 S52g4l 18,000 12,000 6.000
OE&232 s8524H|
18,000,000 * 14| 18,000
307 elztol & 236,500 192,725 43,775
= 9,900
Al 226,600
02 2B YA R E A 73,700 71,925 1,775
O5. 1BAFRXI & JIg2 2el(5. 18R & Xt3l)
5,000,000 * 14 5,000
O5. 18215312 SR 42| @=L
2,000,000 *14] 2,000
odolzZads s==d
4,500,000 *14] 4,500
Odol=dsl =213dIIEs
3,780,000 *14] 3,780
Od0IzZds HEESAL B A8 JIgdAM
5,000,000 *14] 5,000
Od0IzZd3 54 2815 ?|=2A
5,400,000 14 5,400
OdeZd 7= s==d
3,400,000 14] 3,400
O&=z2Z01223 S=z=d
3,400,000 14| 3,400
OR&s=2ita 2==d
2,700,0002 %14 2,700
OFRS+EXtzl 23 AZA
1,600,000& *14] 1,600
OLZENER e JISHA
2,700,000 *14] 2,700
OLUgNERe s=&d
5,400,000 14 5,400
OLEME R SNZ=SAE NE
3,600,000 *14] 3,600




SA: ABIZXID
3 NG A=K JgE ¢
ol E2deAy =8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ob. B HEF S ==L
4,000,000 *14] 4,000
OS+ALRINE S22
1,440,00024%14] 1,440
OS4+22RTNE +3HII2 LS
3,240,000 *14] 3,240
OBUHBETIE F222
3,240,000 14| 3,240
OYHENIS CIEEIIE LAHAEMAL
6,300,000 * 14 6,300
OEEIIE 8=l e
2,000,000& *14] 2,000
OFaxd 229 2223 MEab|
5,000,000& *14] 5,000
03 PIZHNEE 22X 120,800 120,800 0
OE=HH 24| 120,800
-&olzdal 8,800,000& *4= 7| 35,200
-HE2ERED 1,700,000& x4=2 7| 6.800
-HEZd012elg 1,700,000 x4 71 6,800
-FSFEAE 3,350,000 x4= 7| 13,400
-G NERZ 3,375,000 *4=2 7 13,500
e ] 1,800,000& *4=2 7| 7,200
6. 2588 RS2 3,350,000& x4=2 7| 13,400
-FHdFE L3 3,375,000 x4=2 7| 13,500
-&=3 1,000,000 x4 71 4,000
5. 1823252 43
1,750,000& *4=2 7| 7,000
04 QIZHHAMAIRH 2 X 42,000 0 42,000
06.258 3 J|EA (Merzeld])
9,000,000& %12 9,000
Ob.18UFt2S JIE &AL
33,000,000& 13 33,000
s 9,900
Al 23,100
405 AHAHE S 11,897 0 11,897
01 AL =S F=H 11,897 0 11,897
O5. 1B AlRAl 2E7Y
23,794,000 141 %50% 11,897
SE22 & JI8E 2al 17,880 21,380 A3,500
201 eer23y| 17,880 21,380 /3,500
01 AtR2t2lHI 3,560 5,060 21,500
Odgt==H| 3,560
-SE38 X FESADIEE B2
100,000 %52 500
HESE E FIEAIEE B3I 7Y
50,000 6 IH*2IH 2 600




SA: ABIZXID
3 NG A=K JgE ¢
ol E2deAy =8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
P EorL AR 50,0002+ 102 500
HET 202yl 2|
60,0002 * 12 720
-gzRe 8% 7Y
200,000& 102/ *50% 1,000
-d)| HER 20,0002 12 240
2 5234l 14,320 16,320 A2,000
OZZR2 ¢ HAl 4,320
-HET U FHSME HII23
270,000& 128 3,240
HEDY ABIAE ABE
30,0002 12 360
SHESH it 60,0002~ 123 720
OAIE2E =X 10,000
-SE38 X FESADIEE F 2L
3,000,000& *22] 6,000
BEANE A2+ 2,000,000 *22 4,000
AHSAH 28 gdat 177,384 185,068 AT,684
= 37,597
[ 8,730
Al 131,057
AN2SAL EEZ(SH) X 10,258 10,258 0
= 5,129
Al 5,129
201 er23| 10,258 10,258 0
= 5,129
Al 5,129
02 S3=4gl 10,258 10,258 0
OXE AR B (SH)=
10,258,000 x 14 10,258
= 5,129
Al 5,129
AHESAE 2CIUI0IH XIE 90,134 80,774 9,360
= 32,468
Al 57,666
101 @124H| 90,134 80,774 9,360
= 32,468
Al 57,666
03 SRH(RINHA) 222+ 90,134 80,774 9,360
OXESAt 2OIUI0IE K& AN (2H) 0,134
-=20 32,468,000 x2H 64,936
= 32,468
Al 32,468
A2 2,901,660 x2H 5,804




2A:

Ar2l = X 2t

L ENCESIEE
&t TUSAL 29 8435t (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-EA= 2,616,900 x2H 5,234
-0l (R SAIL RF2)
20,0003 »2H+53]x 122 2,400
-X¥E 100,000 x2& * 122 2,400
-WEEXH| 50,0002 x2& 122 1,200
- A ZAH| 80,0002 x2& 123 1,920
—22~239 WESEXH| A5
50,00021x2% <242 2,400
22231 HUZAY| AT
80,0003 x2& 242 3,840
5-18 IF=RIX JA=R0] XY 1,200 1,200 0
= 1,200
301 EetE NS 1,200 1,200 0
== 1,200
02 A2 XSG (FHAAHS, XNLWE) 960 0 960
O5.182IF=7 At JtAL=R01 A&
40,0002 x22 %122 960
= 960
11 dALEBIXNIZE S 240 240 0
05.18UF=ZEA JIMER0I NHASALA &
Sat| 10,0002 x2& 122 240
= 240
NASA 243t X2 75,792 92,836 A17,044
= 7,530
Al 68,262
201 fer23| 21,192 31,812 10,620
= 900
Al 20,292
01 AtR2t2lHl 8,714 10,314 A1,600
Oget=EH| 8,714
AR SAHIE 2= 811,670& *14] 812
NRZAME 2825 Y|
200,000 * 122 +50% 1,200
-SADI |X2e(EH, =8)
480,000 *1CH*13] 480
-2 E JIECIAl 7Y
237,000 *1CH=23] 474
ARSI EH 7Y
110,000& »1CH=23] 220
-SALZ X (M) 23,0002 x3% Ax 122 828
-SE28 Bx3 HH
4002 1,000 *50% 200
-EEE Sd2tE M
50,0003 43| x50% 100
-SAD2 HESAL +=QUSES KA+
5,0002+80H 400




SA: ABIZXID
3 NG AMeIFKI JgE ¢
R AESA 2Y 243 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
“Sx NASAK EET 79
50,0002 *207K 1,000
-H0Pl= =8 NS =208 2
g 50,0003 #5014+ 122 3,000
s 900
Al 2,100
2 S5=2g4l 5,478 15,198 A9,720
O=32=  HAl 5,478
-MHESAE 3223 (2eldl, &I, &3
) 300,000 * 12 3,600
-2pREE 4302« 17024 =128 878
SIS AIE S35 2]
1,000,000 *14] 1,000
03 Ar=EHI 7,000 6,300 700
ORESAT D SASE 300
~SAE(OIE) 300,00024+1%S 300
ORHESAMT $1T8 N
2,000,000& %12 2,000
OM=SAEI| A D= S2i0/T2ld
2,000&*1,00001 8 2,000
ON=ESF)| A 1 LU (IMER)
100,000& x 123 1,200
OM&E THASAHL 28 & 2l
3,000,000 141 %50% 1,500
202 04| 800 1,200 A400
01 SLHoIH 800 1,200 2400
ONAZAL 928 L HTX| A8
200, 0003 x2Z *43| +50% 800
206 M=l 12,200 12,700 2500
= 1,410
Al 10,790
01 M=4l 12,200 12,700 A500
OAtgel 2&Lts MZ4l
6,000,000& 12 6,000
OAtge u= SdI| M=tl
1,500,000& %12 1,500
OMsE8,JIsE HdENASA 2= M=
| 235,000 *202 4,700
= 1,410
Al 3,290
301 22N = 41,600 43,600 A2,000
[ 5,220
Al 36,380
02 MBI 2HEHSFHS(HAANS, KLHE) 28,400 0 28,400
O=AE JIANER0] AbIA X
10,0002 %508 *523 26,000




SA: ABIZXID
3 NG AMeIFKI JgE ¢
R AESA 2Y 243 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 4,500
Al 21,500
O30l HHIA X2
20,0002 x10 =122 2,400
= 720
Al 1,680
11 AALRHIXIZS 13,200 15,200 22,000
OXESAA =4I 8,000& 400 3,200
OX-EASAR 2SLHI(SH, AN, HHEH
s) 20,0002 *300Z +50% 3,000
OAIISl D= SHEI| NHABAL HEL
uf 20,0002 «20H =10 4,000
OR==SAA} HASAMHE & 2Es] s &
X+ OdH 150,000 20 3,000
EIPIE SRS b b Sy 67,809,475 55,408,532 12,400,943
= 60,317,931
s 118,675
== 4,813,522
Al 2,559,347
P ZUSE ALY 64,419,724 52,658,720 11,761,004
= 57,804,931
= 4,475,172
Al 2,139,621
AAAE H2EE= N2 144,000 144,000 0
301 EetE NS 144,000 144,000
02 NRI2HHSFS(HAAS, NLHE) 144,000 144,000
OX?HE =AY EEE S A
144,000,000 * 14! 144,000
Feed=s 2l X 267,000 270,000 23,000
= 267,000
301 Eet2 NS 267,000 270,000 A3,000
= 267,000
01 Al EE A ZS(2DEXMR) 267,000 270,000 A3,000
OF=F = &bibl XI& At
267,000,000 * 14 267,000
= 267,000
I=HEEEHSH 19,880 19,080 800
201 Ler=23 | 15,480 15,480
2 s5=34l 15,480 15,480
0332 € AMAl 15,480
=z EH32E S & SAA
20HY ¢RI W SISES
4303 3,0008 ~ 128 15,480
202 04| 4,400 3,600 800
01 =LHO LI 4,400 3,600 800




FA SIS
Mo 20| EMBEY
chelr QD= MEE ALY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S EYFEEECETEE
200, 0002 +4% 251 450% 800
OEYSH 2OIEZMBLSIAIY NEAL
ELRSES e, 200, 0002 x6 2 *23] *50% 1,200
OMISEX H3uT &4
200,000 +24E 12| x50f% 2,400
A= 0 63,583,020 51,425,100 12,157,920
= 57,224,718
< 4,480,811
Al 1,907,491
301 2eEN= 63,583,020 51,425,100 12,157,920
= 57,224,718
=S 4,450,811
Al 1,907,491
01 Al EE A S(FRDEXH) 63,583,020 51,425,100 12,157,920
OJI=dASH 63,583,020,000& *14] 63,583,020
= 57,224,718
= 4,450,811
Al 1,907,491
MEsy= 57,810 53,288 4,522
308 XM SOIE 57,810 53,288 4,522
08 w=J |20 2 X 57,810 53,288 4,522
Oussn 57,810,000 * 14! 57,810
FSESPNI=10y 348,014 272,086 75,928
= 313,213
== 24,361
Al 10,440
301 2= 348,014 272,086 75,928
= 313,213
S 24,361
Al 10,440
01 Al EE A S(FRNEXMA) 348,014 272,086 75,928
Odliet - FH=0 348,014,000 *14] 348,014
= 313,213
= 24,361
Al 10,440
D ZUSF ALY 3,174,950 2,602,354 572,596
= 2,513,000
= 319,065
Al 342,885
DIES<=INL= 33,700 39,340 N\5,640
= 4,940
Al 28,760




FA SIS
Mo 20| EMBEY
chelr QD= MEE ALY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 4,940 7,035 2,005
= 4,940
04 JIZtN2Z2XNSE+ 4,940 7,035 2,005
Ox51 WSt JLASHI(2124])
2,470,000 x2H 4,940
< 4,940
201 et 3| 26,360 28,705 N2,345
01 AtR2tc|Hl 23,360 25,705 A2,345
OF2UAMHIA SECHHA MIZ
1,000 +2,000% 2,000
SEILIRS=Y[ 6,000
-AEIEEZ0| BB TS A4 22
4024%10,0000H* 105 4,000
-ARIEES0 E2= MR
5002 *4,0000H 2,000
o=l 15,360
~HOIFAET S20YAH|
8,000 »20H 8« 123 15,360
02 S3=gHl 3,000 3,000 0
03323 3,000
-E0HsHYLE) 83
50,000 x50 * 122 3,000
202 04l 2,400 3,600 21,200
01 =LHN LI 2,400 3,600 1,200
O=2U0iH| 2,400
SEX O ERECES TN
200, 0002 x4 +63| *50% 2,400
8= 3,141,250 2,563,014 578,236
= 2,513,000
= 314,125
Al 314,125
301 EtE2 NS 3,141,250 2,563,014 578,236
= 2,513,000
= 314,125
Al 314,125
01 Al EE A S (2 DEXR) 3,141,250 2,563,014 578,236
OASB=X KA
3,141,250,000& *14] 3,141,250
= 2,513,000
= 314,125
Al 314,125
SIZESHAIE 214,801 147,458 67,343
[ 118,675
= 19,285
Al 76,841




2A:

Ar2l = X 2t

Mo 20| EMBEY
el A2 SHAIA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Atdl2te] MM HE (2SS 022l AL 183,640 147,458 36,182
= 118,675
== 19,285
Al 45,680
101 e124d| 183,640 147,458 36,182
= 118,675
=S 19,285
Al 45,680
03 SR (RIH )22 UHE 4 183,640 147,458 36,182
O2d2502eIA S0 176,664
-S|EZ02elAt 22AHI(4E)
3,090,500 x4 H 1204 = 148,344
= 118,675
== 19,285
Al 10,384
2223 DESEY| A2
50,0002 *4 <247 2 4,800
2203 HUZAY| A2E
80,0002 x4 +240H & 7,680
-DE2EH| 50,0002 4% 1274 & 2,400
L] 80,0002 +4% 12048 3.840
2 FHLG A3
100,000 x4 =120 2 4,800
-X8= 100,000 x4 * 1204 4,800
OYESIHI(4E) 4,360,000 x22] 8% 6,976
SESH JI2HH 1R 31,161 31,161
101 @124H| 31,161 31,161
M ORIMZZ2NSE S 31,161 31,161
O2==0 JI2tH eI 25,769
-Jles 78,8803 x250 L+ 1H 19,720
=5=g 78,880 x522x 18 4,102
2l 2, 000242502 1 500
uEeID BEay
120,520 x 1200 2«18 1,447
g35= 2,500,000 %14 2,500
OJIZHMIZZ2 X AU EE D223 2,892
—=EALEE 25,769,000 *3.545% 914
-AIRYEE 914,0002 %12.27% 113
-=2H3 25,769,000& *4. 5% 1,160
-1ELE 25,769,000& *1.75% 451
—OHHEE 25,769,000 *0.982% 24
=0 25 & X 2,820,276 2,789,406 30,870
= 15,35
[ 2,759,238




FA SIS
Hy: Lol 595 9 K
el Lol 25 (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 45,683
=0 25 2,820,276 2,789,406 30,870
= 15,355
= 2,759,238
Al 45,683
C=0ANE2E(HEAY) 2,789,566 2,789,406 160
= 2,748,490
Al 41,076
307 gl2to| & 2,789,566 2,789,406 160
=S 2,748,490
Al 41,076
10 Al SXAZEE 22X 2,789,566 2,789,406 160
OL=QIA4 238I1(2002)
2,733,046,000& x14] 2,733,046
< 2,733,046
OL=0AIE SAHL S8
51,480,000 * 14| 51,480
< 16,444
Al 36,036
OL=0AId BAA #1254
5,040,000& 14 5,040
C=0NE JIsEZ 30,710 0 30,710
= 15,355
= 10,748
Al 4,607
307 el2tol & 30,710 0 30,710
= 15,35
< 10,748
Al 4,607
10 Al2IS XA E 22X 30,710 0 30,710
OL=0Ad JIs22(SHE)
30,710,000& » 14 30,710
= 15,35
< 10,748
Al 4,607
HREsS(AIES XD 3,412,483 3,418,860 26,377
LIS HHXIE 3,412,483 3,418,860 N6,377
SISESMTEEIH NE HES 3,412,483 3,418,860 6,377
701 JIEtSI HSHES 3,412,483 3,418,860 N6,377
01 JIEteI B ES 3,412,483 3,418,860 26,377
Ocgs0ils S8 NA H&3
3,412,483,000& x14] 3,412,483
HZ2S3HI(MRI=X) 156,512 156,827 A315
[2ZHI(AtEI =X 186,512 156,827 A315




2A:
X XH -
o e

Sk

Ar2l = X 2t
HHY2HGHI (A=)
Jl2ZHI(Atg=Xlt)

M- SA(3) - MRAY - BES ﬁﬁ%
J1=2ZHI(AtEI = XI2H) 156,512 156,827
201 LEr2AY) 53,744 53,513
01 AFR2t2(I 53,744 53,513
(@I =] 22,256
JlE AIREE| 100,000 +41 4,100
-=2AD| EHTRY 150,000 <2CH63] 1,800
-=AD| EERY 330,000 x2CH*23] 1,320
-DRIH EYRY 237,000 +5CH 53] 5,925
-SAEX 2L 23,0002 302t A x 128 8,280
-AIRA HARE 29
150,000 *23| %50% 150
-4 2 H)| ARz 56,7002 * 12 681
O3 31,488
-AEI S XL RER S04
8,000 x41H+8L x 12 31,488
202 OiH| 98,400 98,400
01 2UH04Hl 98,400 98,400
OAIZI=X ZR=E 2L
20,0002 x412+105] « 128 98,400
203 RF=&Y| 4,368 4,914
M PASIAREXY 4,368 4,914
OALE|= Xt 4550009 * 122 +80% 4,368




